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 �� ���) 
1 1!% 

     �#�1 3
�1 ��X� [�8"�)/&!:4 .(      ;���X� !=��� �� �W�D 1��� 1�!X�
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           ���) 
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 ����� �0� pf2
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           �#�1 3���� �=R�+
� -.
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PH 7/7  
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TNV   %5/15  
O.C  %4/2 
�*E2  (ppm)6/7  
��8�  (ppm)287  
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     �
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  �	��3 -$�' ,. �� ��' 
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�� +2� 4�5���� �6���� 7�
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 +/6B
@+�  

) �)��    (

@+� C�=��0  
) �)�� (

@+� 
	�  
) �� 7+. %
��

7+.�
��(
!?�# d38/49 b567/8 b318/1  d3313/ c474/3  d4/115 

ppm2000  c56/51  b567/8 b377/1 c4733/  b555/3  b2/156 
ppm4000  a89/54 a654/9 435/1 b a6333/ c381/3 a5/164 
ppm6000  b19/52 ab975/8 a875/1 b5625/ a609/3 c9/142 
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�1 ��X� [�8"� 3�
�1 TB=�1 ;���� ��	� �� !=
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���.  
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@+�  

) �)�� (

@+� 4�"  
) �� 7+. %
��
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��(

-  cm15×20  2/5 a 9/31 a 5/5 a 8/52 a 3/257 a 9/8 a 6/3  a 1/447 a  
-  cm25×30  3/5 a 4/32 a 5/5 a 3/53 a 9/253 a 9/8 a 4/3  B 2/410  b 

�=R�+
�  -  7/7 a 2/35 a 6/8 a 6/51 b 3/291 a 9/8 a 6/3 a 6/418 b 
�B=�+  -  8/2 b 1/29 b 4/2 b 6/54 a 9/219 b 9/7 b 3/3 b 7/438 a 

            e�8�� [�_ �+ ���? T�>=���=!�8E? 3
�1 ��X� [�8"� 3�
�1 TB=�1 ;���� ��	� �� !=
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ppm � –  cm15×20  b3/275  b2/121 
ppm 0 -  cm25×30 b236 b7/109 

ppm 2000 -  cm 15×20 a5/290 b8/130 
ppm2000- cm25×30  b3/262 a6/181 
ppm4000- cm15×20 b7/240 a7/185 

 ppm4000- cm 25×30  b5/253 ab3/143 
ppm6000- cm15×20  b8/240 ab8/153 
ppm6000- cm25×30  b2/264 b 2/132 
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�1 ��X� [�8"� 3�
�1 TB=�1 ;���� ��	� �� !=
�!= e�8�� [�_ �+ ���? T�>=���  
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�20×15            ��� �!���� �"��# \� ;�A�� T���R�� �+ 1�� 
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���� 7+. %
��(
 Ppm 0- �=R�+
�  a71/60  b631/3  c08/97  
ppm 0 -  �B=�+   d97/37 cd318/3  bc8/133 

ppm 2000 –�=R�+
�  a19/62  b634/3  ab6/176 
ppm2000-�B=�+   cd92/40 bc476/3 bc8/135 
ppm4000- �=R�+
�  a75/62 bc530/3 a8/190 

ppm4000-�B=�+   b54/47 d232/3 bc3/138 
ppm6000-R�+
�  �=  a87/61 a883/3 ab5/152 

ppm6000- �B=�+   c51/42 cd334/3 bc3/133 
                              !�8E? 3
�1 ��X� [�8"� 3�
�1 TB=�1 ;���� ��	� �� !=
�!= e�8�� [�_ �+ ���? T�>=���  
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��(
15 × 20cm -�=R�+
�   ab 34/6  a 70/61  a 4/304  a 523/1  b 146  

15 × 20cm -�+ �B=  b 14/4  b 42/43  b 3/210  b 418/1  b 7/149  
25 × 30cm -�=R�+
�   a 23/9  a 06/62  a 3/278  a 429/1  a 5/162  

25 × 30cm -�B=�+   b 49/3  b 79/40  b 6/229  b 347/1  c 9/120  
            !�8E? 3
�1 ��X� [�8"� 3�
�1 TB=�1 ;���� ��	� �� !=
�!= e�8�� [�_ �+ ���? T�>=���  

  

�	��8 -%'�0 ��
�� ,����� +2� 4�5���� �6���� × C��+; ×7�
�8 ���+� �$�' ,.�� ��' 
+�. �!���� (�/) 
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��' 
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�� �� 7+. %
��(  
ppm 0 - cm15×20 -�=R�+
�   a71/60  b8/310 b850/3  f83/95  
ppm 0 -  cm 15×20 -�B=�+  f31/40 g8/203 ghij361/3  bcde5/146 
ppm 0 - cm 25×30 -�=R�+
�  a68/60  e5/4/242 fghj412/3  5/17bc 

ppm 0 – cm 25×30 -�B=�+   g63/35 ef4/229 hij275/3 def1/21 
ppm 2000- cm 15×20-�=R�+
�   a31/63 a2/342 fga447/3 f2/104 
ppm 2000- cm 15×20 -�B=�+   de10/43 e9/238 bcd690/3 bc5/157 
ppm2000- cm 25×30 -�=R�+
�   a08/61 bc3/296 c821/3 a0/249 

ppm2000- cm 25×30-�B=�+   f73/38 c9/281 ij262/3 ef2/114 
ppm4000- cm 15×20 -�=R�+
�   a30/62 c9/281 def561/3  a3/222 

ppm4000- cm 15×20 -�B=�+   bc10/46 g5/199 fghij395/3  bcd149 
ppm4000- cm 25×30 -�=R�+
�   a20/63  d8/262 efg500/3 98/23 f  

ppm4000- cm 25×30 -�B=�+   b97/47 e2/244 k068/3  cdef5/127 
ppm6000- cm 15×20 -�=R�+
�   a46/60 c8/282 a112/4 b7/161 

ppm6000- cm 15×20 -�B=�+   cd18/44 g9/198 fgh442/3 bcde8/145 
ppm6000- cm 25 ×30 -�=R�+
�   46/2 bc b7/311 cde655/3  bcde3/143 

ppm6000- cm 25×30 -�B=�+   ef85/40 Fg7/216 k226/3  def8/120 
              ;���� ��	� �� !=
�!= e�8�� [�_ �+ ���? T�>=���!�8E? 3
�1 ��X� [�8"� 3�
�1 TB=�1.  
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 �
�D �� �#�� /��0� 
�$�� �� �!��� �"�# �$% ;�A�� T���R�� 

ppm 4000     ;�A�� �� ' 65/9      !�1�) (,�_ �&
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            /��6 S?��+ �� ���) 3�4��
!�?���+ ;�A�� S?�+ �+ �	� Z����
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          3���) ���!�=� ��*, ^=��
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�� ��
             ;a&��8�= !�,
1 �#�� /��0� �
�D S��A2� �� �+  1�# �� �!?���

 �A2� Y��             �� Y��� ;a&��8�= !�,
1 T��8��� �B�
�J�  �	� �82�� S�
 ���
�D ppm6000 
�!��f� ����  875/1 ���	� �!��# (��,�_ !��,
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)/&!:3 .(              ��� �8E�2 1��+ �#�� /��0� �+ �E��� �>=���  �<�8= T��
             �!�# ��4)�� ���6 �� ��� \]: S��A2� 7:�� ���=��� ���8�= ���$?
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1 ;a&�8�=    & �8�#�1 ��	�	� S�f=
               !���� ��� S��A�2� A��= �4)�� 
1 (�2&��+ ;�A�� ;� S��A2� �� ���$? .
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 Y�� (�2&��+ ;�A�� !�1�) �!?��� �B�
�J�
                31
� & �&���+ ����% ��+ !�1�) l%�� �*, T�� & 1�� �B=�+ -.
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   -.
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� -�.
 ��+ 1�1 ;���= -+��� 15×20 

       ;�A�� �� Y�� ;a&�8�= !,
1 T���R��522/1      �	� �1�� �
�1 �
 !,
1 
)/&!:7 .(             -�.
 T��� p	�� ��� \]: ���=��� �+ !	
 �� �
�� T��K

       !#�� ��  �1�� �B=�+ -.
 �� �8���  .        z���	 ��$= & ���1�# 7:�� ���
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            !,
1 �� ���=��� ���8�= 1�+ ���$? �� �8E2 1�+ �#�� /��0� ���

                1��� 
�1 ���X� !�,
1 r�� /�$8_� IJ	 
1 �4)�� �*E2) /&!�:2  .(
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           S��A2� ��G�� !_ �� ���=��� ���8�= & �8E2 /��0� �
�D S��A2�
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�D 
1 Y��� �*E�2 !,
1 T���R�� �B�
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�D S��A2� �� & !�1�) �!?��� �#�� /��0�
         ��2�� S?�+ Y�� �*E2 !,
1 
�!f� T��)   /&!�:3 .( �+     ���� T��� �

         �
�D 
1 ���) 1��� �$= & !#
 (��!�ppm 6000       ��.1 
�8+��2 ��� & 
           ���
 !���� & !#
 1��1�� 7c	 �*E2 �+ !?1 �� ;��= ��X��J�    3��?

                  
�!�f� 1��:& & 1��# ��� ����) �)!=� �
&1 
1 ���) ��B08	� & 3�.
                  & �1�1 S��A�2� �B��" ������ 
1 �
 ;� ���&�f� ����) 
1 �*E2 �2�+

) ��<=��	1�# �� �
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��� -�.�*�  
               /���0� �1��	 ������ ��+ !?1 �� ;��= �? �1�1 ^=��
�& ��A<�
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 �#�� /��0� (��f8� ����� & -+���×-+��� ×  ;�A��� �� -.
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